
Erosion Control 
 
 
Question 2-85 has only one answer there should be 2. Impermeable, and Spillway. 
 
Questions 3-193 through 3-204 have very confusing answers. The correct answers are as 
follow: 
 (3-193) TRUE 
 (3-194) 10% 
 (3-195) 500 
 (3-196) MULCH 
 (3-197) CHEMICAL, MECHANICAL 
 (3-198) TRUE 
 (3-199) 500 LBS/ACRE 
 (3-200) ¾ inch, 1 ½ inch 
 (3-201) STRAW MULCH STABILIZATION 
 (3-202) WOOD FIBER MULCH 
 (3-203) TEMPORARILY GRASSED 
 (3-204) 3:1 
  
 
 (3-217) the answer is B THE SPREAD OF H TOP OF THE PLANT 


